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Q.No: 1  Where is the highest hockey ground in India?

2427535
HRT T Fe e g a1 A Pl W 87
Gangtok
A
e
Silaru
B
Rreme
Jammu and Kashmir
C
SR PR
Leh
D
B

Correct Ans : B

Subject : General Knowledge

Q.No: 2 Select the wrong statement regarding BRICS.

2427574
T & Gy # eI o BT T BRI
2021 BRICS summit was the 13th annual BRICS summit
A
2021 T3 RReR e 1331 affes fvery Rrer wwter ot
2021 BRICS summit was hosted by Russia
B
2021 T RRET AT 9 GRI o fopar T ot
The 2021 summit was hosted virtually by video conference.
C
2021 ¥ RRER THTH B AT axge: Al T gR1 3 T A
Its headquarters is in Shanghai, China
D

T e Y, S A Y
Correct Ans : B

Subject : General Knowledge

Q.No: 3 Siraj ud-Daulah became the Nawab of Bengal after the death of-

2427971
RRIGEar fFa@t §g & a6 S ST 799 §1-
Alivardi Khan
A
s crife o]
Mir Qasim
B
R SRW
Shahbaz ahmed khan
C

Mg 3gHg WA
D Mir Jafar
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TR AR
Correct Ans : A

Subject : General Knowledge

Q.No: 4 India can import which of the following from the developed countries to improve the country’s economy?

2428901
WRA 3R &1 erforaw # GuR & g R 3=t & Fafafea # & fue smm # 9o 82
Latest technology
A
T qpHiD
Capital goods
B
Eoicksc)
Infrastructure
C
PPREFR
Drainage system
D

7 Rrew
Correct Ans : A

Subject : General Knowledge

Q.No: 5  Which female wrestler has become the first female player to win a silver medal in the World Wrestling Championship-2021?

2430535
Ty pft afReRm-2021 & F B AR TR 9 Uaw Sl arel geeh Afgen e &7 i g
Sarita Singh
A
v s
Anshu Malik
B
g Afts
Vinesh Phogat
C
a3 Bime
Babita Phogat
D

S wrme

Correct Ans : B

Subject : General Knowledge

Q.No: 6  Who among the following established ‘Mayo College’ in Ajmer in1872?

2435718
fFrafafea # A feem 1872 # SR # ' Plas’ B R B1?
Lord Mayo
A
e
Lord Dufferin
B
s sHiA
Lord Lawrence
C
g aia
Lord Ripon
D
s R

Correct Ans : A

Subject : General Knowledge
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Q.No: 7  In which ocean is the world's largest island located?

2435824
Ry o1 T w1 €iv frg AerITR & fRya 82
Antarctic Ocean
A
SETHD HFRNR
Arctic Ocean
B
BT TEETR
Pacific Ocean
C
YR HETHFR
Indian Ocean
D

fome mRTR
Correct Ans : B

Subject : General Knowledge

Q.No: 8  What sport Aditya Joshi is associated with?

2440908
e S forwr @@ 9 S @7
Hockey
A
gt
Cricket
B
fpde
Badminton
(o)
Sefifen
Swimming
D
GGl

Correct Ans : C

Subject : General Knowledge

Q.No: 9 Mian Tansen was among the Navaratanas at the court of -

2441050
firat A e oRaR  TaReH § § 42
Shah Jahan
A
MR
Akbar
B
PR
Jehangir
C
wgifiRk
Humayun
D
LN

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Who was the Governor of Malwa and subsequently became the King of Malwa in 1401 AD?
2441135

Tl & IS B & 3R 912 H 1401 3. F ATGar F A 92
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A Mahmud Khan
HeHg @
Hoshang Shah
B
BI=iT <Mg
Dilawar Khan Ghuri
C
R T T
Ghazni Khan
D
Tt &

Correct Ans : C

Subject : General Knowledge

Q.No: 11 The Nau Toran Temple is dedicated to which deity?

2441237

A R AR b A P @i 82

Vishnu
A

o

Durga
B

o

Shiva
C

R

Rama
D

R

Correct Ans : C

Subject : General Knowledge

Q.No: 12 In which year did the INVEST Portal become operational?

2441526

9% UiEq frw 9y =T gen?

2005
A

2005

2012
B

2012

2015
c

2015

2018
D

2018

Correct Ans : D

Subject : General Knowledge

Q.No: 13 Who is the author of the book “Seonee, or Camp Life in the Satpura”?
2441557

e, SR $T TEE 7 < Fags” TP & aEd D 87
R. A. Sterndale

IR T &S

B Rudyard Kipling
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wears faufe

James Forsythe
C

SR IRy

Dunbar Brender
D

TR TR

Correct Ans : A

Subject : General Knowledge

Q.No: 14 Who among the following became the first Chief Justice of Madhya Pradesh High Court?

2441694
Frofifa & 9 $F 7w Y S IMad $ URd I A §9?
M. Hidayatullah
A
T, fRargere
Ganesh Prasad Bhutt
B
O TS 4T
P.V. Dixit
C
.. e
Narayan Dutt Ojha
D

AR & M
Correct Ans : A

Subject : General Knowledge

Q.No: 15 Who became the First Chief Justice of the Nagpur High Court?

2441726
AR I AT & Ugal T iy S 47
Gilbert Stone
A
s ®
Frederick Louis Grille
B
s g8 e
Bhuvaneshwar Prasad Sinha
C
YAVR TG Ry
M. Hidayatullah
D

W feeragee
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Narshinghpur district is the major producer of

2441810
RRYTR e frge v Sae® 82
Orange
A
HeRT
Sugarcane
B
=T

Cc Banana
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&

Pineapple

A
Correct Ans : B

Subject : General Knowledge

Q.No: 17 Fiscal deficit of Madhya Pradesh for 2021-22 is targeted at how much crore (4.47% of GSDP).

2441858
Y 2021-22 & T HeA o= HT GBI Wl fpan IS (STTHSI BT 4.47%) W Al
Rs. 50,598crore
A
3. 50,598 TS
Rs. 1,23,993 crore
B
3. 1,23,993 IR
Rs. 20,419 crore
C
3. 20,419 TS
Rs. 1 lakh crore
D

3. 1 9@ S
Correct Ans : A

Subject : General Knowledge

Q.No: 18 Odishi dance is performed by which of the following communities mostly?

2442347
i T i ¥ e 5y Igem gri far o €2
Maheri
A
sl
Nai
B
g
Washermen
C
Ui
Nomads
D
felgicEk

Correct Ans : A

Subject : General Knowledge

Q.No: 19 Where is the headquarters of the World Bank located?

2442421
Ay S &1 gerad we [ 82
United States
A
Y T AR
China
B
Eul
France
C
kgt
Germany
D
S

Correct Ans : A
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Subject : General Knowledge

Q.No: 20 Aanand Bhavan is situated in which district of Uttar Pradesh?

2442494
T T IR UeN & forw for 7 R &2
Lucknow
A
TS
Kanpur
B
PR
Gorakhpur
C
TRER
Prayagraj
D
TATRIS

Correct Ans : D

Subject : General Knowledge

Q.No: 21 The defect in the insulin secretion can result in which disease?

2423009
YoM T & I & FROT B T1 I | GhaT 82
AIDS
A
=
Heart disease
B
TR
Diabetes
Cc
AylE
Cancer
D
FW

Correct Ans : C

Subject : General Science

Q.No: 22 One can save the life of people by donating the blood for four times a year.
2423020

et o Ff IR 9R YaEH ISP AR B ST TS o Gl g1

Eleven
A

TRE

Twelve
B

T

Thirteen
C

e

Fourteen
D

g

Correct Ans : B

Subject : General Science

Q.No: 23 Persons, who come in contact with pigs can contract with which disease?
2423052
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3R & YU H 3 dred HATK &1 D1 Hl §HRT g Hhdl 8?2

Diabetes
A

AyiE

Swine flu
B

LSRR

Rabies
Cc

Eeic)

Asthma
D

<Ar

Correct Ans : B

Subject : General Science

Q.No: 24  Passing through which of the following medium speed of light will be minimum?

2425754
e & o Hemm § ToRA R Y $ T Goad guft?
Water
A
ot
Air
B
TR
Glass
C
g
Vaccum
D
Lol

Correct Ans : C

Subject : General Science

Q.No: 25 Which one the following do not belong to the protozoans?

2428731
Fraffea 9 S Westen & dafta 78 ¥
amoeba
A
St
paramaecium
B
YerfifRem
euglena
Cc
A
sponges
D
sl

Correct Ans : D

Subject : General Science

Q.No: 26 Match the following:
2428748

1 Reptiles A Platypus

2 Aves b Alligators

3 Mammals c Gulls
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THIAEd 1 [Hemg:

o
o

)

1-a, 2-b, 3-c

1-a, 2-b, 3-c
1-b, 2-c, 3-a

1-b, 2-c, 3-a

1-c, 2-b, 3-a

1-c, 2-b, 3-a

1-a, 2-c, 3-b

1-a, 2-c, 3-b
Correct Ans : B

Subject : General Science

Q.No: 27 Check the odd one out:

2428785
fawm 3 Sifg &y
unicellular eukaryotes
A
THBIRIBIT JHRATTH
unicellular fungi
B
TEHIRSB HIS
unicellular algae
C
SRR A
multicellular animals
D

TR TR
Correct Ans : D

Subject : General Science

Q.No: 28 Check the odd one out:

2428789

v &t ST &

They lack locomotory organ
A

I U T4 T P 7

All are parasites
B

T TRel §

Plasmodium and monocystis
Cc

wHifEa R AR

bread mold
D

33 Hies

Correct Ans : D

Subject : General Science

Q.No: 29 Which one of the following is not the main source of water?
2429029
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Frofafea & § S oa 31 7o I 78 82
Rain water
A
aof &7 Ut
Surface water
B
I o
Sea water
C
TYF B UFH
Tube well water
D

ST BT UM
Correct Ans : D

Subject : General Science

Q.No: 30 Which factor is responsible for influencing wind direction and speed, temperature, air pressure, clouds etc.?

2429265
BT 1 = ORI, AITHE, IS, qed M B IR B S R B W FRe kR 82
Chemical factors
A
EENS BRS
Environment factors
B
TR FRES
Physical factors
C
Riccakarcy
Climatic factors
D

WAy PRD
Correct Ans : D

Subject : General Science

Q-No: 31 The binomial nomenclature consists of

2429858
firug e # S §
genus and species
A
S SR venfrat
family and genus
B
RER SR ST
species and kingdom
c
e SR wmra
kingdom and species
D

ST 3R gt

Correct Ans : A

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429869 question from the given options.

Assertion : (A) Ron encountered an animal in the pond that had an elongated body and eel-like.

Reason: (R) the fish witnessed belonged to class cyclostomata.

e Fufafad uy & < oy § FFd 3t @ sfimys ik g 1 "SR & T H A9a 597 T 1 YS! 37 il Sl P GIaUFIgS g St § 3R T e fiwwdt § & vy @1 9d 3w
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SNUHY: (T) T W I BT G U SR §ail, [9rehT TR Tl AR 3 ST Tl
DR (3AR) 2 TS mod! o7f Taaeder 1 &

#
A (R) is true but (A) is false.
(R) T B AR (A) T 81
(A) is true but (R) is false
B
(A) ¥ & 3 (R) T §
(A) is false.
C
(A) T &I
(R) is the correct reason for (A)
D

(R) (A) ¥ e et oRur §
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430048 qyestion from the given options.

Assertion (A): Yoghurt made from milk.

Reason(R): Conversion of milk into yoghurt is brought about by the bacteria Lactobacilli.

A FaffEd vy & @ w8 e @ T 1 iyt oIk g B PR & T § AqT 5 T 71 ST 37 I HuRl Bt GradrigdE wid w8 SR o e fawedt # § uy a1 9 3w
SEHY (A) : GU I I @l
PR (R) : Y BT &1 § URkad" daiRar daciaiet gR faar s g1

Both A and R are true

A

A SRR TG F

Both A and R are false
B

A IR R 3 o §

A is true but R is false.
C

AT 3 MR s R

A is false but R is true.
D

A AR AfFTRITRI
Correct Ans : A

Subject : General Science

Q.No: 34 are known as bioplastics.
2430128
TRReD & ¥ 7 ST S g
Disposable utensils
A
oo &
Compostable utensils
B
% & T
Synthetic wool
Cc
Ridfes Fa
Cotton
D
PU

Correct Ans : A

Subject : General Science
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Q.No: 35 Name the type of fibre that is naturally obtained from a cocoon?

2430135
I UBR & W ST TH FA3Y S Ui 9 ¥ HIHT ° U gir 82
Polythene
A
Trei
Polymer
B
wga®
Silk
C
=M
Terycot
D
ESicad

Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422596
0,1,4,9, 16, 25, 31, 49
el H e HH BT UCl TT?
0,1,4,9,16, 25, 31, 49
25

A
25
31

B
31
9

C
9
4

D
4

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424544

SR Teg BT T HIY

Mercury
A

el

Bromine
B

ELi]

Sodium
Cc

wfsgw

Titanium
D

et

Correct Ans : B
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Subject : General Reasoning

Q.No: 38 Find the number of triangle in the given figure.

2425655
T mpfl § By @ wen 1 Sk
10
A
10
13
B
13
11
c
11
12
D
12

Correct Ans : C

Subject : General Reasoning

Q.No: 39 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426302
WRITE : JEVGR :: WRONG : ?
I HeR-TUE BT T HY o IR S(eR-TUE ¥ I TR Yafild § S uRT 9feR-9g, Ugd SieR-THg § Wefd
WRITE : JEVGR :: WRONG : ?
JEBAT
A
JEBAT
JECAT
B
JECAT
JEDAT
c
JEDAT
JEDAD
D
JEDAD

Correct Ans : A

Subject : General Reasoning

Q.No: 40 Khan travels 8 km from east to west, then turns right and travels 2 km. Again, turns right and travels 5 km. So, in which direction has he finally reached from his starting poin

2426370
@ gd & i fomn & 8 freiiey &) A Xl § 39 1% 31 gHeR 2 frdnfieR B am ar g1 Yo T gHaR 5 fhardie? S g 7 a1 21 ofd: ofd & 98 o URf fig § few fam d
South-East
A
g
North-West
B
JR-uEH
North
c
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D South

i

Correct Ans : B

Subject : General Reasoning

2‘-‘"‘2‘244012 Select the option /number which is related to 3* number in the same way as 2 number is related to a
15t number?

8§:256:10:7?

3W TEAT [AFeT F1 997 HT A HY TS F 36 THR FoOd § S g0 T&A T8
HEAT ¥ HET ¥

8:256:110:2

250

250
125

125
625

3125

3125
Correct Ans : C

Subject : General Reasoning

Q.No: 42 In the given diagram, Circle represents sharp teeth, Triangle represents Animals and Rectangle represents short tail.

2426612
N
Find the total number of Animals who has either sharp teeth or short tail but not both.
o U o #, g9 TP aidl 31 RARE FRar 8, By et @1 wffRfia oxa § SR smaa et g o1 ufafia ewa )
D
W TFRI B Fa TS I1d PR K a1 9 Ja1d g 1 91 U § AR S T 71
3
A
3
16
B
16
19
c
19
12
D
12

Correct Ans : B

Subject : General Reasoning

Q.No: 43 Pointing to a lady Govind said, “She is the wife of my sibling”. How is that lady related to Govind?
2429582
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Th AGal BT R FRT I U MG A BHgT, "9¢ TR el B Udl §"| 95 Higdl S ¥ [hd THR Ja149d 57

Mother
A
HiAr
Daughter
B
jic
Aunt
Cc
=/ A
Sister-in-law
D

RRCTEEG]
Correct Ans : D

Subject : General Reasoning

Q.No: 44 Point B is in the east of Point C at 30m. Point C is in the north of Point D at 25m. Point D is in the west of Point E at 50m. Find the shortest approximate distance between C an
2429668 yith respect to OPTION B:

frgefg cHF @A 30 xR fog g D FIW H 25 i W 71 g D fig E F ufdm & 50 X W71 € IR E F §19 &1 wod B gl 710 B¢ IR B & Fay # E &1 fzm off 30 F2

56m, south-east

A
56 iR, oo
60m, south-east
B
60 Tiex, ahRu-gd
65m, south-west
C
65 ey, afaur-uiw
70m, south-west
D

70 Hi, <fRror-ufde
Correct Ans : A

Subject : General Reasoning

Q.No: 45 A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:

2434071
N 12
T T39I ATged IATAT AT Z| T% 6T F9E S TET [Ahed T 4a9 B3 A39d B q0 F i
:°!z°::: Eg
A
o O]
B
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Subject : General Reasoning

o:
3333333

the figure that will come next in the following figure series

I NPT FT 787 X <l ufifAa snpfa gaen # om ameh

<X
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Correct Ans : C

Subject : General Reasoning

Q.No: 47 Select the letter-cluster that can replace the question mark (?) in the following series.

2434361
IN, LP, NR, PT, RV, ?
o Jae § 30 1eR-THg &1 999 B o Uy 255 (?) 3 ufawnfia #R g gl
IN, LP, NR, PT, RV, ?
™
A
™
T
B
T
uT
c
uT
uv
D
uv

Correct Ans : B

Subject : General Reasoning

Q.No: 48 In the following question, select the odd number from the given alternatives.

2435056
Frafafad vy & i e el # & favw SB1 &1 957 S
256
A
256
512
B
512
196
c
196
100
D
100

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Identify the class that best represents the Venn-diagram.

2435576
39 T BT UG B S -3 BT TG4 33T Wiaffe beam g1
©)
Copper, wire, aluminum
A
qie, AR, TegaT
Units, Watt, Volt
B

T, qIE, diee
C Pen, Paper, Book
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DH, BTN, TP

Parliament, Speaker, elected members

g, sy, i ga=r
Correct Ans : D

Subject : General Reasoning

Q.No: 50 Select the odd word/letters/ number from the given alternatives.

2438949
fog g fagredt | 9§ foww wrez/3(ERl/ e &1 gl
343
A
343
64
B
64
75
c
75
27
D
27

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440189 the main statement.

If I dream, I will see my dream home
A.I dreamt

B.I did not dream

C.I saw my dream home

D. I did not see my dream home

f3T T vy § g o SR I9F T8 AR FUF §1 AT BT HA IH I, SeT 60 DU BT ad gk B § 7, SR T T Ae® FU 9 T HUT F § 3
SR T AT S § o S WO 1 W S

A, B 99 &

BB o e T

C.H3 31 WO T W @

D. A 3 U 1 W e @
AC

AC
BA

BA
DA

DA
cD

CcD
Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440252 q3in statement.

If bank increases the interest rate, people will deposit their money.
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A. bank increased the interest rate

B. bank did not increase the interest rate
C. people deposited their money

D. people did not deposit their money

fow T gy H e HU SR IGF 918 IR HUA §| FYHI BT BT GH A, 6T U5 HYF BT dd IR YA I 7, R & FUF difdd FY ¥ T FUF Y A 7
TR &P SIS &R TG 8, <o NI STOAT TH ST B |

A. ¥ 3 91§ = R

B. ¥& I R H IS T 3T

C. NI 9 3y BT o foram

D. QRT3 e o Y

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440280 ain statement.

If I get good marks, my mother will reward me.

A. I scored good grades
B. My mother rewarded me
C. I did not score good grades

D. My mother did not reward me

Ru Te vy § gwr B SR TP §1G IR $YF §| FUAT BT BT IH I, 951 Ued HUT B a0 R FUF 9 B, R ) 9 A T F 581 B4 F I g1
o T oy ol I Fal ¢, 1 B AT g 3w &t

A, B 3 U T g

B. T 7 3 79 d R
C. 7 o ¥ yret 7l Y
D. B o A g 3 T fean

AB
A

AB

BA
B

BA

DA
C

DA

cD
D

cD

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Select the related letters from the given alternatives.
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2441962
HIJ : OPQ :: STU : ?
fou T el § & Wafa aferi BT g
HIJ : OPQ :: STU : ?
BCD
A
BCD
ZAB
B
ZAB
XYz
Cc
XYz
CBA
D
CBA

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442003
Salt : Pepper
Ry T fwedt & Fefa s T @R
b : o
Curd : Milk
A
| gy
Vegetable : Sugar
° oot : A
Bread : Butter
C
S : HEET
Sugar : Sweet
D

9 : e
Correct Ans : C

Subject : General Reasoning

Q.No: 56 . 1Y 4. _ +9(46 -
2422371 Simplify: 1024-[86 - {39 +2(46-27)}]

TRA DI 1024 - [86 - {39 +2(46 - 27)}]

800
A

800

890
B

890

150
C

150

996
D

996

Correct Ans : D

GET IT ON

Google Play
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Subject : General Maths

QNo: 57 - gimplify:36-[72- {70 - (36-34 =17 x 4)}]

2422386
TR DI 36- [72- {70-(36 - 34+ 17 x 4)}]
6
A
6
7
B
7
10
C
10
12
D
12

Correct Ans : A

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.11500 for one year at the rate of 20% per annum, if the interest is compounded quarterly.

2423608
11500 FUT FT 20% Ufd 3§ Ft R ¥ UF ¢ H1 Iwgls 9 19 S, A = TR < B
Rs.5467.9829

A
Rs.5467.9829
Rs.9799.8929

B
Rs.9799.8929
Rs.1034.45321

c
Rs.1034.45321
Rs.2478.32188

D

Rs.2478.32188
Correct Ans : D

Subject : General Maths

Q.No: 59 Dipesh borrowed a sum of Rs.50500 from a finance company to purchase a T.V. If the rate of interest is 5% per annum compounded annually, calculate the compound interest
2423623 company after 3 years.

R 7 TP A TiE F RIT 0@ B S ¥ 50500 T B AR JUR A | A TS B &R 5% Ui I Gifiie FAG §, T I Tpgis S B UM B ol T BT 3 I P qIG S BT YR
Rs.2870.9410

A
Rs.2870.9410
Rs.2680.3015
B
Rs.2680.3015
Rs.2879.1298
C
Rs.2879.1298
Rs.7960.0625
D

Rs.7960.0625
Correct Ans : D

Subject : General Maths
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Q.No: 60 Solve:
2428588

{563 x 7 -404 +4+62 x5 -[555 + 5345 + (445 - 63 x 5]}

ERERS
(563 x 7 -404 =4 + 62 x 5 - [555 + 5345 + (445 - 63 x 5)])

39.77
A

39.77

40.65
B

40.65

39.66
C

39.66

38.4
D

38.4

Correct Ans : C

Subject : General Maths

Q.No: 61 The average age of X and Y is 33 years. If Z's age is added the average of their ages becomes 31 years. What is the age of Z?
2432573

X 3R Y 3 ofred oy 33 a9 31 Al Z BT oy Sirg & oI <t ST org T Sfed 31 a9 B W ¢ Z B SRy I 82

24 years
A

24 91

27 years
B

27 9

30 years
C

30 9@

33 years
D

33 9|

Correct Ans : B

Subject : General Maths

3434654 (243)"/° x 32" +1 s
9"x3"?
(243)n/5 ¥ 32n +1 N
9"x3"! '
1
A
1
2
B
2
9
c
9
3!1
D
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Correct Ans : C

Subject : General Maths

Q.No: 63 a

b a’+b?
2434744 £} + o=

2 then value of abro? is equal to

a, b a?+b?
gfesta™ Zé'a‘r—amzmrmmﬁswél
o
A
0
1
B
1
2
C
4
D
4
Correct Ans : B
Subject : General Maths
Q.No: 64 7 .
2434774 | x*+x? o
x3 +1‘_ =79x L
If" "x . then find the value of x5-702x% + 4
4 2
1 . ;3x -7
3 . Zoe A T S .
afe * 7 xR, A 702 < a Bl HIF J1d DR
2
3
A
2
3
1
2
B
1
2
3
2
C
3
2
3
D
3

Correct Ans : A

Subject : General Maths

(22-4";‘;26159 Whatis the profit percent, when the cost price is 80 % ofthe selling price?

a9 5 e e &1 80% 8, T A Wfersrd i iferg?

A 20%
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2

)
7

w
o~

Correct Ans : D

Subject : General Maths

Q.No: 66 A man bought a cow and a bull for Rs. 3000. He sold the cow at a gain of 20% and the Bull at a loss of 10%, thereby gaining 2% on the whole. Find the cost of the cow.
2435239

TF 1S 3 Ua T 3R TF qd HI 3000 I F WIS IH M $T 20% T 3R I B 10% 1 310 R 701, s IF o 2% &1 A gaiTl T FT ARG Ged 1 BHor |

2200
A

2200

1800
B

1800

1200
C

1200

1000
D

1000

Correct Ans : C

Subject : General Maths

Q.No: 67 A.T.V. seller sold two T.V. at the rate of Rs. 9,600. Out of them, he obtained 20% profit on one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtaine

2435299
T TEffae fada 3 %, 9,600 31 R A q AR 3| I7H | U efaw W 20% 1M d GE AT W 20% B S o 39 Gia & fFaw ufawd @y sran g1 g52
10% profit
A
10% T
4% profit
B
4% T
4% loss
C
4% I
No profit no loss
D

A A g
Correct Ans : C

Subject : General Maths

Q.No: 68 Which of the following is a proper fraction

2437477
Fofifed & @ o W uw IR e §2
4
3
A
4
3
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lw

W

Hlw

3
4

Correct Ans : D

Subject : General Maths

Q.No: 69 Find the smallest fraction?
2437497

BECEIGIRPEIGETE I

8o

500
10000

500
10000

Correct Ans : C

Subject : General Maths

Q.No: 70

2437557 Prakash spendg of his income on rent and half of remainder on transport. He saves the remaining

amount. What fraction ofincome does he save?

BT mafrqmg HIT FARTT R 2R A9 &1 1T IRag TR T 5411 S A9 AR Bt
TUA B | TS AT 3T & e i Bl U o2

1
9
A
1
9
2
9
B
2
9
C

O |
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D |

-]

9 |n

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘RUNNER' is written ‘SUMMER’ then ‘WINTER’ will be written in the same language as?

2422546

g et wichford U & 'RUNNER' ®T 'SUMMMER' RI@T T @ 'WINTER' 1 3 W11 § feram simem fored

XIMSER
A

XIMSER

VINTER
B

VINTER

SINVEER
C

SINVEER

VIOUER
D

VIOUER

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘SAND’ is written ‘"VDQG’ and ‘BIRD’ is written ‘ELUG’ then ‘LOVE’ will be written in the same language as?

2422576

I, et Wik Ter & 'SAND' F 'VDQG' e ST § SiR 'BIRD' &1 'ELUG! fRrar STl § o 'LOVE' &1 Seft 11wt & feman smem forasl?

PRYG
A

PRYG

QRTG
B

QRTG

NPUH
c

NPUH

ORYH
D

ORYH

Correct Ans : D

Subject : Mental Ability

Q.No: 73 I a row, Shraddha is 16% from left end and 19th from right end. Then find the total number of
2425594 : .
students in the given row?

T Ul g1 a8 ©R F 1641 R <@ SR ¥ 194 §1 A < 78 ufy § faeniidl 5t o v I Sk

34
A
34
35
B
35
36
C

36

27
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37
Correct Ans : B
Subject : Mental Ability

Q.No: 74 Identify the set for the number 421665.

2426512

TBI 421665 & Y TE I B TgaH HIeg|

AQRBBG
A

AQRBBG

PQBRSE
B

PQBRSE

ASGRBE
c

ASGRBE

QRPSSE
D

QRPSSE

Correct Ans : A
Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430256 e to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Private organisations in India have welcomed the amendment of the Industrial Employment Rules 1956 to sexual harassment at the work place.
Conclusions:
1. Sexual harassment of private at work place is more prevalent in world as compared to other developed countries.

I1. Many organizations in India will be stopping recruiting women to avoid such a big problems.

Frofafaa ust &, & T 31 Fspd 1, 11 37 SFIR0 IR § SIS Gl DUl TR AR S g, 43 & 3 SdR W 9 all § Uedid g @il| et 31 2T 7 wue & afg frsed 81 dl 39w 99

F: URA B ot WreT § Friwe W A Iafisd & R sieifie IR faw 1956 § Wi ST @wd a3
e

1. o= oo a =i &1 g o sriw@ W Fet 31 99 gadted giar 7 st vafe 71

11, 3ot 9t IH ¥ g9 & oY YR & 38 e afgansit 31 odf @ dg @x 3

Only conclusion I follows

A
e e 1 SigeRo wear §
Only conclusion II follows
B
Pad Y 11 SRR Bl §
Either I or II follows
C
1A 17 LI TR el §
Neither I nor II follows
D

T I SRS I TR el ¥
Correct Ans : D
Subject : Mental Ability

Q.No: 76 In a certain code language, ‘All The Best’ is written as ‘ka Na Sa’. ‘Good Better Best’ is written as ‘La Na Ma’. ‘All Is Good' is written as ‘Sa Ma Ja’ How will ‘Is’ be writte
2434433

T A g T H, “All The Best’ @ ‘ka Na Sa’ & =0 7 fo1@1 9IIq1 §1 'Good Better Best’ &1 'La Na Ma’ & &0 ¥ fora1 Wil 21 'All Is Good’ 1 ‘Sa Ma Ja’ & &4 ¥ forar war 81 6

A Ja
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Ja

Sa

Sa

La

La

Correct Ans : A
Subject : Mental Ability

Q.No: 77

In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi

2435469 \yhich of the given conclusions logically follows from the given statements.

Statements:

I. No apples are oranges.

II. All oranges are bananas.
III. All bananas are grapes.
Conclusions:

I. Some apples are bananas.

II. Some grapes are oranges.

= o g uy & iR B oy U § e wre & e 1 oiR 11 3y U §1 snuhl 3 Y St B e AT, W B 3 W a9 i wlia € 8 SR R au R 5 i @ ey feg e &
T

1. 5 99 I Te 21

11, 9+ IR A 7

111, ft 351 SRR B

for:

1. $% 99 &a g1

II. $% AR YR T

Only conclusion I follows.

Fad ey 1 R Har Bl

Only conclusion II follows.

Paq ey 11 SR B B

Both conclusions I and II follows.

2 ey 18R 11 SRR Xd €

Either conclusion I or II follows.

a1t s 17 11 SR R §1

Correct Ans : B
Subject : Mental Ability

Q.No: 78

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known

2435529 conclusions logically follow(S) from the statements.

Statements:I. Some Rose are Lotus.
II. Some Lotus are Lily.

III. Some Lily are Jasmine.
Conclusions:I. Some Rose are Lily.

II. Some Lotus are Jasmine.

R g FeA SR Pl o eyrgde uijul we R gU R e F € i S w8, va €1 ue Wy 9 audl @ v &, 9 o e s e e Rl F § o W ol o1 afde w9 es
FU:

1. $% Ta¥ $AA g

11. $© HHA P 81
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111 $& PHRA Tl B
o

1. $F A FHRA 81
11. $ HAT T 8

Neither conclusion I nor II follows.

T e 1 3R T & 11 SR e B

Only conclusion I follows.

Pad Py 1 SFER SRl B

Only conclusion II follows.

Fad FrFY 11 TR SR g

Either conclusion I or II follows.

a1 < e 197 1T SFTERY e B
Correct Ans : A
Subject : Mental Ability

Q.No: 79 How many smaller pieces are obtained by making four parallel cuts on a cube?
2438389

TF ¥ W IR FHARR B @ J e 81t g o g1d 82

4
A

a4
B

5

6
C

6

3
D

3

Correct Ans : B
Subject : Mental Ability

%"\:'_;;58502 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
I=H>C2>2N<E=S
Conclusions:
I.I>C
I.C>2S
TAFATIIT 92 &, FUAT & aTe; ooy g0 71w §)
U 3T el & HTUR R TAshy o7 7egdet B A 379+ Sead & &9 A 39gad fahed & a9 H
FUA:
I=H>C=2N<E=S
forsad:
I.I>C
I.C=2S
Neither conclusion I nor conclusion II is true
A
a1 RIS e maad
Either conclusion I or II is true
B

gafsdiianaas

Cc Only conclusion II is true
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Had My II9A §

Only conclusion I is true

Faa Y 1997
Correct Ans : D
Subject : Mental Ability

25’;%5%13 In the following question, the statements are followed by conclusions. Study the conclusions based on the
given statements and select the appropriate option as your answer.
Statements:
H>I=J>K<L
Conclusions:
I. K<H
IL.L>1I

AT 92 &, BUAT & aIg feisay few 1w §)

T 1T ST & TR W TASHY &l Jeqder Y 3N 39 ek & &9 A 5ugad faaed o a9 Bl
FHUA

H>I=J]>K<L

o

I. K<H

ILL>I

Only Conclusion I follows

A
Foa Freed 1 9@ §
Only Conclusion II follows
B
Faa fef 1 va
Either Conclusion I or II follows
C
gafrframnaad
Neither Conclusion I nor II follows
D

a1 dRTRIITT R
Correct Ans : A

Subject : Mental Ability

2;"‘;‘;6%22 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statement:
LLM<KN>O02=2P
Conclusions:
I.LO<M
I.PLN

AFAfATEd 9o &, Feeil & arg fovad fGU 1T g

T 3T HUAT & HUR R AHT &7 7egTe B AT 39 Sead & §9 A 39gad [admed o aqe H
FUT:

LEM<N>O0zP

forsad:

LO<M

ILP<N

Only conclusion I follows

A

Faafef 194§

Only conclusion II follows
B

e e 11 99 §

Either conclusion I or II follows
C

QY 1A I 9§

D Neither conclusion I nor II follows


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

TFafRef I dRTd I TTR

Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439088 haye to decide which of the given conclusions, if any follow from the given statements.

Statements:

All leaders are trainers.
No trainer is a follower.
Conclusions:

I. No leader is a follower.

II. Some trainers are leaders.

= g 7T e B 1 U T IUF v & ey 1 aun 11 fRT MY 1 suent AU T e b I AT 8, M € 9w et O P el 81 €1 G el F SR TR ST SO IR A |
T

Tt a1 uie B

I Aie® Rl T 31

frsp:

1. B Jar srgardh g B

I1. $B Ufes Ja1 81

Only conclusion II follows

g Prepd 1T ofgeR BT &

Neither conclusion I nor II follows

T frsee 1 R T & 1T SR wRar ¥

Both conclusion I and II follow

3 freepy 1 iR fepy 11 SR B &

Only conclusion I follow

Faa I 1 SR R g
Correct Ans : C

Subject : Mental Ability

Q.No: 84 Which one of the given responses would be a meaningful order of the following words?
2442684

1. Major

2. Captain

3. Colonel

4. Brigadier

5. Lt. General

FrafaRed fawedi § § $H-9 e 9 Ry gu = F wide A 31 i 82
1. AR

2. FWH

3. & fa

4. fsifear

5. dftee IRa

54,3.1,2

543.12
514,23

514,23
C 4,5,1,3,2
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4,51,3,2

3,4,2,51

3,4,2,51
Correct Ans : A
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442721

1. Maternity

2. Matriarchy

3. Matchbox

4. Matricide

i wedl B Tsgebial & 2T 7Y 6 & SIAR faRgul
1. Maternity

2. Matriarchy

3. Matchbox

4. Matricide

3,1,24

3,1,2,4
4,3,1,2

4,3,1,2
3,4,1,2

3,4,1,2
1,3,4,2

1,3,4,2
Correct Ans : A

Subject : Mental Ability

Q.No: 86 Shyama can do a piece of work in 420 days. How much work can he do in 21 days?
2423688

XTI U@ T Bl 420 e H R Favar 81 a8 21 Rl A fam o R wad 82
1

17

Sl=

uilw

3
5
Correct Ans : C

Subject : General Aptitude

Q.No: 87 Which of the following is divisible by 19?
2427637
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Frofafea & 9 o 10 § fovrsa §2
732158

732158
480713

480713
125808

125808
381957

381957
Correct Ans : D

Subject : General Aptitude

Q.No: 88 Present age of Rahul is 5 years less than Ritu’s present age. If 3 years ago Ritu’s age was x, which of the following represents Rahul’s present age?

2431233 g ) goaH g g 1 39 org & 5 99 F4 g1 afk 3 9 o g &t omg x o, @ Fw & & Tga @ o omg w1 W g

x+3
A x+3
xX-2
B x-2
x-3+8
¢ x=-3+8
D X+3+8
x+3+8

Correct Ans : B
Subject : General Aptitude

Q.No: 89 In a polygon five interior angles are 140 degree each and rest of the interior angles are 160 degree each, then find the total no. of sides of the polygon.

2431351

TF TgUS & 5 SHaRE D10 UAF 140 F&h &  qur 2w wit sfialks Siv vl 160 370 & § o agae & yonsii 3t gem sarsh

8
A

8

12
B

12

13
c

13

17
D

17

Correct Ans : C

Subject : General Aptitude

Q.No: 90 It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car. It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of
2435993 (apjs-

600 foift, et amn 3 9 afg 120 ffl, a2 9 91 S SiR A gEn BR 9, @ g 8 wee F gt A ¥ ok afd agt amn &
200 . SiR A T FR F T BT T A 20 B B THY S T 1 A AR PR PV A BT ST TARL?

3:5
A

3:5

3:4
B

3:4

4:3
C

4:3
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4:5

Correct Ans : B

Subject : General Aptitude

Q.No: 91 A train crosses a man sitting in another train going in the opposite direction in 8 seconds. If the train travels in the same direction, then it requires 25 seconds to do so. If the
2436029 nd the other train in which a man is sitting, is 160 metre in length, then find the speed of first train.

TF XS], T YS! # 3% aafdy B faudia faxm # Te gu 8 Ievs H ur o At 3] aft Yamel ue famn ¥ 77, @ Yt @t 25 Yavs o1 wHy At afe v Yame! 31 awarg 200 Hier o
g, 5 s 160 Hiex B, o ugeh Yo @t =1a I S|

61.2 km/h
A
61.2 f&t. /41
59.4 km/h
B
59.4 f&. s4er
45 km/h
C
45 . fder
48 km/h
D
48 o, sder

Correct Ans : B

Subject : General Aptitude

Q.No: 92 A rabbit complete the 5 jump in as much time as a dog complete 3 jump. Rabbit cover 2m in 1 jump and dog cover 4m in 1 jump. If initial gap of rabbit and dog is 10 m. How
2436041 (ich the rabbit ?

O W R Yo B 5 T @I §, U Gl 3o 8t Ueg H 3 ST @l 81 W 1 BT A 2 W, iR o 1 waiT & 4 i, #t g a9 wxdr 31 9% o1 9 W & i 9 urie gl 10
fpaht sain @ oSl 2

20:m

5 Jump

,2—0 .

3

20 Jump

20 T

15 Jump

15 B
16 Jump

16 SAM
Correct Ans : €

Subject : General Aptitude

Q.No: 93 A can do a work in 12 days while B can do it in 15 days. They undertake to complete it together for Rs. 450. What will be the share of A in this amount of money?

2436096
ATEH FE B 12 T A O IR Tl § 9 B S 15 o H O IR God1 81 3 39 U@ Iy Aae 450 T03 F 1 $ TR ) O 8| 59 R F A B e e g
Rs. 200
A
200 T
Rs. 240
B
240 37
Rs. 250
c
250 303
Rs. 300
D
300 390

Correct Ans : C
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Subject : General Aptitude

Q.No: 94  The HCF and LCM of two numbers is 6 and 5040 respectively. If one of the numbers is 210, then the other number is:
2436155

& et BT HCF 3R LCM HR1: 6 3R 5040 31 af% T10 ¥ T& T@1 210 & o gt T@m 41 grit?

630
A

630

144
B

144

256
c

256

30
D

30

Correct Ans : B

Subject : General Aptitude

Q.No: 95 The product of two numbers is 45360; if the HCF of the numbers is 36, then their LCM is:

2436159

Gl Rl 1 IS 45360 ©; T TSI PTHCF 36 &, @ ITPT LCM B:

1260
A

1260

252
B

252

630
c

630

126
D

126

Correct Ans : A

Subject : General Aptitude

Q.No: 96 The LCM of two numbers is 12 times of HCF. The sum of HCF and LCM is 403. If both numbers are smaller than LCM, find both numbers.

2436980

& TeIal BT A9, I9 AU, BT 12 T 1 TSl F 9.9.0. 3R 0.0, &7 A0 403 B A SHI TG S 9.9.9. F Bt B, A Sl Sed 91d i

67,91
A

67,91

93,124
B

93, 124

93, 125
c

93, 125

77,120
D

77,120

Correct Ans : B

Subject : General Aptitude

Q.No: 97 Find the largest 4 digit number divisible by 45,50 and 30.
2437902
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45, 50 3R 30 gRI [GUTISTT TaY J91 4 37T DI AT JTd BT

9988
A

9988

9900
B

9900

9920
C

9920

9950
D

9950

Correct Ans : B

Subject : General Aptitude

Q.No: 98 P & Q can do a work in 10 & 15 days respectively. First day P & second day Q work, then the whole work complete in alternate days. In how many days the work will complete

2444457
P 3 Q fFHft T I 10 T 15 R H U IR ISHd 1 U8 e P 3 R A Q SR ot oft 3 UoR T -9 § I R ¥ o e ot & v g €1 S
12 days
A
12T
15 days
B
15 A
8 days
c
gfa
7.5 days
D
7.5 f&

Correct Ans : A
Subject : General Aptitude

25,125%99 Aniland Vanil start together at the same time in the same direction. If Vanil walks atg of Anil's
speed, he reaches destination by 1 hour 15 minutes late from Anil. Find the time taken by Vanil.
AT TAT AT T AT TF 5T TAT TTF §T (24T H T47 T <9 g1 I Fiae,
aﬁ?faﬁ’rwﬁffrzﬂﬁr%a%a’ragaﬁ?«rﬁlﬁﬂls e 30§ wgaar g e I
[ERtEICEIEIS T RRIC e
6 hours 45 minutes
A
6 ¥aT 45 fire
7 hours 15 minutes
B
7 der 15 e
7 hours 30 minutes
c
7 1 30 e
8 hours 15 minutes
D

8 Her 15 e
Correct Ans : C

Subject : General Aptitude

Q.No: 100 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.
2444668
7,8, 20, 43, 107, 232, 448
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= vl Fofuled sae # e Tad S < T R 1 Tad Se 91d 1

7,8,20,43,107, 232, 448

43
A

43

232
B

232

107
C

107

20
D

20

Correct Ans : D

Subject : General Aptitude
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